



Statement Date Sep 25 - Oct 29, 2010

Page 1 of 4

NELVA E BRUNSTING TTEE U/A DTD 10/10/96 ELMER H BRUNSTING DECEDENTS TR 13630 PINEROCK LANE HOUSTON TX 77079-5914

## Too Much of a Good Thing

As an individual investor, from time to time, you may get excited about an investment and be tempted to load up on it. But remember that "too much of a good thing" can actually be bad. If you put too much of your money into one particular investment or type, you may be exposing your portfolio to unnecessary risks. All investments carry some type of risk. The key is deciding which risks are worth taking. Talk to your financial advisor about keeping a balanced portfolio.

Total Account V	/alue
\$285,262	.30
Value One Month	Ago
\$277,763.58  Value One Year A	go
\$0.00	

Value Summary		
	This Period	This Year
Beginning value	\$277,763.58	\$0.00
Assets added to account	0.00	291,261.84
Income	792.30	3,566.49
Assets withdrawn from account	-398.45	-41,944.09
Change in value	7,104.87	32,378.06
Ending Value	\$285,262.30	

Summary of Assets (as of Oct 29,	additional details at www.edwardjones.com/access
Cash & Money Market	Ending Balance
Money Market 0.01%*	\$15.07

\* The average yield on the money market fund for the past seven days.

			Amount Invested	Amount Withdrawn	
Mutual Funds	Price	Quantity	Since Inception	Since Inception	Value
Brandywine Blue Fund	23.08	387.256	8,821.62	-847.84	8,937.87
Columbia Mid Cap Value Fd Cl Z	12.24	707.727	8,821.62	-1,239.47	8,662.58
Dodge & Cox Income Fund	13.45	2,044.309	29,408.39	-3,068.34	27,495.96
Dodge & Cox Intl Stock Fund	35.08	846.202	29,409.83	-6,075.32	29,684.77
DWS Small Cap Value Fund Instl	34.42	170.077	5,881.09	-658.52	5,854.05
Fidelity New Insights Fd Instl	19.24	766.074	14,708.61	-2,012.03	14,739.26
ING Global Real Estate Fund I	16.25	532.648	8,821.62	-1,900.11	8,655.53
Investment Co of America CI F1	26.98	756.591	20,588.05	-2,779.54	20,412.83
JPMorgan Core Bond Fund Select	11.69	2,107.139	26,464.91	-2,800.87	24,632.45
Jpm Fed Money Market Instl CI	1.00	4,510.33			4,510.33
JPMorgan High Yield Fd Select	8.21	689.639	5,881.08	-779.66	5,661.94
MFS Research Intl Fd Cl I	15.33	1,348.376	20,583.79	-4,220.68	20,670.60
New World Fund Cl F1	54.23	108.461	5,881.08	-1,201.77	5,881.84
Oppnhmr Cmd Strat Ttl Rtn Cl Y	3.39	3,415.229	11,762.17	-1,465.14	11,577.63





Statement Date Sep 25 - Oct 29, 2010

Page 2 of 4

Summary of Assets (continued)  Amount Invested Withdrawn Mutual Funds  Price Quantity Since Inception Since Inception					Value
Oppenheimer Intl Bond Fund Y	6.91	1.240.388	8.821.62	-1,466.80	8,571.08
Pioneer Fund CI Y	38.14	612.69	23,524.35	-3,105.52	23,368.00
T Rowe Price Equity Income Fd	22.04	899.467	20,583.80	-2,702.51	19,824.25
T Rowe Price New Income Fund	9.76	2,520.978	26,468.80	-2,896.76	24,604.75
Thornburg Invt Tr Value Fd I	32.16	357.634	11,762.16	-1,506.55	11,501.51
Total Account Value	1			1	\$285,262.30

Inve	Investment and Other Activity				
Date	Description	Quantity	Amount		
9/27	Dividend on Columbia Mid Cap Value Fd Cl Z on 702.259 Shares @ 0.098		\$68.96		
9/27	Reinvestment into Columbia Mid Cap Value Fd Cl Z @ 11.77	5.859	-68.96		
9/27	Dividend on Thornburg Invt Tr Value Fd I on 356.958 Shares @ 0.058		21.02		
9/27	Reinvestment into Thornburg Invt Tr Value Fd I @ 31.09	0.676	-21.02		
9/28	Dividend on Dodge & Cox Income Fund on 2,020.116 Shares @ 0.16		323.22		
9/28	Reinvestment into Dodge & Cox Income Fund @ 13.36	24.193	-323.22		
9/29	Dividend on T Rowe Price Equity Income Fd on 893.661 Shares @ 0.14		125.11		
9/29	Reinvestment into T Rowe Price Equity Income Fd @ 21.55	5.806	-125.11		
10/01	Dividend on Jpm Fed Money Market Instl CI on 4,728.35 Shares at Daily Accrual Rate		0.32		
10/01	Reinvestment into Jpm Fed Money Market Instl Cl @ 1.00	0.32	-0.32		
10/01	Dividend on JPMorgan Core Bond Fund Select on 2,100.659 Shares @ 0.036		75.62		
10/01	Reinvestment into JPMorgan Core Bond Fund Select @ 11.67	6.48	-75.62		
10/01	Dividend on JPMorgan High Yield Fd Select on 685.292 Shares @ 0.051		34.95		
10/01	Reinvestment into JPMorgan High Yield Fd Select @ 8.04	4.347	-34.95		
10/01	Dividend on Oppenheimer Intl Bond Fund Y on 1,238.735 Shares at Daily Accrual Rate		29.77		
10/01	Reinvestment into Oppenheimer Intl Bond Fund Y @ 6.80	4.378	-29.77		
10/01	Dividend on T Rowe Price New Income Fund on 2,513.171 Shares at Daily Accrual Rate		76.12		
10/01	Reinvestment into T Rowe Price New Income Fund @ 9.75	7.807	-76.12		
10/04	Dividend on ING Global Real Estate Fund I on 530.851 Shares @ 0.07		37.21		
10/04	Reinvestment into ING Global Real Estate Fund I @ 15.81	2.354	-37.21		
10/05	Redeemed Jpm Fed Money Market Instl Cl @ 1.00	-307.23	307.23		
10/05	Sell Brandywine Blue Fund @ 21.67	-0.753	16.31		
10/05	Sell Columbia Mid Cap Value Fd Cl Z @ 11.74	-0.391	4.59		
10/05	Sell Dodge & Cox Intl Stock Fund @ 33.43	-2.99	99.97		
10/05	Sell DWS Small Cap Value Fund Instl @ 33.00	-0.451	14.88		





Statement Date Sep 25 - Oct 29, 2010

Page 3 of 4

Inve	stment and Other Activity (continued)		
Date	Description	Quantity	Amount
10/05	Sell Fidelity New Insights Fd Instl @ 18.40	-2.02	37.16
10/05	Sell Investment Co of America CI F1 @ 25.89	-1.427	36.95
10/05	Sell ING Global Real Estate Fund I @ 15.85	-0.557	8.83
10/05	Sell MFS Research Intl Fd Cl I @ 14.66	-4.363	63.96
10/05	Sell New World Fund Cl F1 @ 52.73	-0.439	23.15
10/05	Sell Pioneer Fund Cl Y @ 36.55	-1.133	41.42
10/05	Sell Oppenheimer Intl Bond Fund Y @ 6.83	-2.725	18.61
10/05	Sell Oppnhmr Cmd Strat Ttl Rtn Cl Y @ 3.32	-10.289	34.16
10/05	Advisory Solutions Program Fee		-307.23
10/07	Direct Payment to Bank of America, N.A.		-398.45
10/07	Buy Jpm Fed Money Market Instl Cl @ 1.00	88.89	-88.89
10/22	Fee Offset Less Admin Fee		13.53

Money Market Detail Money Market shares were deposited or withdraw			.00 per share.
Date	Description	Deposits	Withdrawals
10/06	Deposit	\$399.99	
10/07	Withdrawal		-398.45
10/07	Withdrawal		-88.89
10/25	Deposit	13.53	
Total		\$413.52	-\$487.34





Statement Date Sep 25 - Oct 29, 2010

Page 4 of 4

## **About Edward Jones**

Edward D. Jones & Co., L.P. is dually registered with the Securities and Exchange Commission (SEC) as a broker-dealer and an investment advisor. Edward Jones is also a member of FINRA. Statement of Financial Condition — Edward Jones' statement of

- at your local branch office
- at www.edwardjones.com/en US/company/index.html

financial condition is available for your personal review:

by mail upon written request

## **About Your Account**

Account Information — Your Account Agreement contains the complete conditions that govern your account. Please contact your financial advisor if you have any changes to your financial situation, contact information or investment objectives.

Account Safety — Please review your statement carefully. If you believe there are errors on your account, you must notify us promptly of your concerns. You may either contact our Client Relations department or your financial advisor. You should re-confirm any oral communication by sending us a letter within 30 days to protect your rights, including your rights under the Securities Investor Protection Act (SIPA).

Errors or Questions about your Electronic Transfers — Contact Client Relations at (800) 441-2357.

Complaints about Your Account — If you have a complaint please send a letter to Edward Jones, Attn: Complaints Dept., 1245 JJ Kelley Memorial Dr., St. Louis, MO 63131.

Withholding on Distributions or Withdrawals — Federal law requires Edward Jones to withhold income tax on distribution(s) from your retirement accounts and other plans unless you elect not to have withholding apply. You may elect a percentage to be withheld from your distribution or not to have the withholding apply by signing and dating the appropriate form and returning it to the address specified on the form. Your election will remain in effect until you change or revoke it by returning another signed and dated form. If you do not return the form by the date your distributions are scheduled to begin, Federal income tax will be withheld. If you do not have enough income tax withheld from your distributions, you may need to pay estimated tax. You may incur penalties if the amounts withheld and your estimated tax payments are not equal to the tax you owe. State withholding, if applicable, is subject to the state's withholding requirements. Fair Market Value for Individual Retirement Accounts -

Your fair market value as of December 31st will be reported to the IRS as required by law.

Rights to Your Free Credit Balance — You may ask to withdraw your free credit balance during normal business hours, subject to any indebtedness in your account. While your funds are not segregated, they are properly accounted for on our books. Edward Jones may use your free credit balance to conduct business.

Learn More about Your Statement, Review Additional Disclosures and Terminology — Visit

http://www.edwardjones.com/en\_US/resources/knowledge\_center/index.html



Go Green! Did you know you can receive your statements and other documents online instead of on paper? Visit www.edwardjones.com/edelivery for more information.

Client Relations			Online Access		Other Contacts	
2	Toll Free Phone 800-441-2357	Monday-Friday 7am -7pm CST	<b>~</b>	Online Account Access www.edwardjones.com/access	***	Edward Jones MasterCard 800-362-6299
×	201 Progress Parky Maryland Heights,	-		Edward Jones Online Support 800-441-5203	8	Edward Jones VISA Debit Card 888-289-6635